H
=]

d M A

2 A @
=E'F 2ol
ol = chel &
CESI(SIH) - HISAY - BYS Atol e =32t
Kl <O 31,410,937 31,183,025 227,912
= 4,710,500
g 13,944,000
== 698,440
o 12,057,997
AT 22| 7,578,057 5,275,901 2,302,156
= 50,000
ray 4,906,000
= 89,625
o 2,532,432
M 29 146,585 127,490 19,095
Al A2 22 84,574 62,405 22,169
101 ol 24| 15,509 0 15,509
10 JIZHN22XNSE+ 15,509 0 15,509
O &xE AFEUX 01AHH| 15,509
- Jla2 32,980 * 18 » 260 8,575
- T4 32,9803 * 1Y = 52! 1,715
— AU 8,574,000& = 4/12 2,858
— Z2EIIa2 32,980 * 1 x 2602 * 0.1 858
— WE XSG 32,9803 x 1Y = 252! 825
— A2t E 4,705 * 12A12F » 1€ » 128 678
201 LEt2Ab| 8,765 8,225 540
01 ArR2t2|d| 5,905 5,365 540




SN XI2He D
D ALE B
B9 ALE 29 (29 & )
SN BB CR(B) - HEAY - BES 0f &F oA aﬁiﬂgﬁ Hms2
SRR 1,075
— 44E YREM JI=2E 1,075
=R 3.0008 * 505 150
s suas 1,5008 * 505 75
AFEI 91 5 (3+5) 2002 + 2,00004 400
AFRI 915} (5+7) 1,5002 + 30004 450
O 44+E YRET HALDE 7Y 2,790
— zetmelH Y3%tERIX 80,0002 * 674 480
— YOIHERE EHCE 385,0002 * 674 2,310
O o 4H ZE3ZA 22l L a4 20,0008 * 1HA * 128 240
O 5.2l 1,800
— Y4EYR =X 5,008 * 33 « 102 * 128 1,800
2 ZZSLH| 2,860 2,860 0
O 1. 3Z23 2 XA 1,360
— AE ARASAE HII23 10,0002 * 3044 * 122 360
— y&SEs 1,000,008 * 1 1,000
O 3. AIZZHIRXIH| 1,500
— ohE ASAE RN 250,000 * 3044 * 23] 1,500
202 OfH| 1,920 1,800 120
01 =LHOIHI 1,920 1,800 120
O DIS&4E AES F2A () 20,0002 * 43] * 2 * 128 1,920
207 AARIHLHI 6.000 0 6.000
02 F&Re 6.000 0 6.000
O 44+ERYE COZZIY 2 6,000,008 * 14! 6,000
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S RIS
I AT 22
ool AT 29 (e &)
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
301 LR A 52,380 52,380 0
12 JIEBes3 52,380 52,380 0
O g4z dllea 45,0008 * 97IHA = 128 52,380
MALT E2L 62,011 65,085 A3,074
201 LEr29y| 55,189 55,593 A404
01 AtR2&elyl 55,189 55,593 A404
O 1. Lot 55,189
— DISALELEAMN 42 55,189
S & A 56,5008 * 76IHA = 43 17,176
BEI| A Ab 27,0008 * 76IHA = 23 4,104
=202 A 283,900 * 760 A * 13 21,577
24 (5HE ) 2440008 * 410 A * 1] 10,004
24 (XI5t) 66,5008 * 35JHA * 15 2,328
206 M 2HI 6,822 6,792 30
01 M2t 6,822 6,792 30
O A% AR 22HLY 2,0002 * 544 * 63 60
O DiSasE 2ZHANE 23UY 2,0008 * 153044 * 63| * 2& 3,672
O AS%E 3¢ 30,0008 * 103042 3,090
ASC ALY 7,431,472 5,148,411 2,283,061
= 50,000
z 4,906,000
[ 89,625
z 2,385,847




SA XSHE
FH: =k 2

EI9l: AAE A (crsl: &)
SN B HAEH) - NRAY - B 0 &t o4 e HlDE2
OI2&d+% HES 201,440 100,900 100,540
401 AlEHIL 2048l 201,440 100,900 100,540
01 Al&H| 200,000 100,000 100,000
O DtS4d5 HE A 200,000,000& * 14l 200,000
03 AlZ=CHYI 1,440 900 540
O Dts4&=% HESAY 20| 200,000,000& = 0.72% 1,440
e 32 O 704,410 1,023,427 A319,017
401 AlEHIL 2048l 704,410 1,023,427 A319,017
01 Al&HI 699,972 797,000 A97,028
O & =2 A 699,972,000& * 14 699,972
03 AlZ=CHYI 4,438 0 4,438
e L2 JNEAY 20 704,410,000& = 0.63% 4,438
3L EM sHEMEES NE(ZS) 4,337,500 3,812,500 525,000
s 3,470,000
= 43,375
= 824,125
401 AlEHIYL 204 4,337,500 3,812,500 525,000
s 3,470,000
= 43,375
= 824,125
01 AIZHI 3,976,763 3,502,234 474,529
8 B4 sHEMESHIHYE 3,976,763,000& 14l 3,976,763




SA XSHE

FH: =k 2

Sl AL ALY CLEL
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
s 3,190,000
= 43,375
o 743,388
02 Zcldl 350,000 300,000 50,000
O ¥8 S4 sHEMESIHEY 22| 350,000,000 * 1A 350,000
s 280,000
i 70,000
03 AlZ=C0HHI 10,737 10,266 471
O &, & sHEMESESLINY AIES2THYI(3,976,265,0002 *0.27%) 10,737,000& 10,737
IIZMELSZINR =202 AZ(3H]) 100,000 0 100,000
= 50,000
= 50,000
401 AlEHIL204bI 100,000 0 100,000
= 50,000
i 50,000
01 Al&HI 100,000 0 100,000
O Jxzdex3207 =E20|2AHZE 100,000, 0003 » 14! 100,000
= 50,000
i 50,000
orgk 9l 2 SOE MEES NHE(Z2E) 1,625,000 0 1,625,000
as 1,300,000
& 16,250
= 308,750




SA XSHE

FH: =k 2

Sl AL ALY CLEL
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2

401 AlEHIYL 2048 1,625,000 0 1,625,000
s 1,300,000
& 16,250
= 308,750

01 A& 1,419,880 0 1,419,889
O sHEMEESIHY MY 1,419,889, 0003 * 14! 1,419,889
s 1,140,000
& 16,250
o 263,639

02 Zeltl 200,000 0 200,000
O sHEdHEsITAY 2eltl 200,000,000& » 14! 200,000
s 160,000
= 40,000

03 AlZSCHYI 5,111 0 5,111
O sHESHESIHT ALY AIE 20| 1,419,889,000& *0.3599% 5,111

2H ARRSAE HBAS(ES) 172,000 0 172,000
s 86,000
= 86,000

401 Al UL 172,000 0 172,000
s 86,000
= 86,000

01 A&l 170,771 0 170,771
O BEAAREAEHEAY 170,771,000& 1Al 170,771
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SA XSHE

FH: =k 2

Sl AL ALY CLEL
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
s 86,000
= 84,771
03 Al&=CHYI 1,229 0 1,229
O REAARTAIEIEAE AIER0UYI 170,771,000 *0.7195% 1,229
EE ARDSEAE WA (ZE) 100,000 0 100,000
s 50,000
= 50,000
401 AlEHIZ 20| 100,000 0 100,000
s 50,000
= 50,000
01 Al&HI 99,110 0 99,110
O 2EARESEAIE HEAY 99, 110,000 * 14! 99,110
s 50,000
o 49,110
03 Al&=CHYI 890 0 890
O BEALAAESEAE WA AIESF0HYI 99, 110,000& *0.897% 890
e stk B 80,576 0 80,576
401 AlEHIZ R OHY] 80,576 0 80,576
01 A&l 79,995 0 79,995
O IS4+ 2N 79,995,000 = 14 79,99
03 AIESCHHI 581 0 581
O Dtsd==5 HESAS 20l 80,576,000& = 0.72% 581
g AT A &X 50,546 0 50,546




SA XSHE

FH: =k 2

ool AT ALY (el ® 2
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t
401 AlEHIZ S 50,546 0 50,546
01 Al&dl 50,000 0 50,000
O BXY AT AIE &X At 50,000,000 * 1J{A 50,000
03 AlZ=0idl 546 0 546
O &Y AT &XAIY 20| 50,540,000 * 1.08% 546
OIS A4T HZA (ZH|) 60,000 0 60,000
[ 30,000
= 30,000
401 AlEHIZL S 60,000 0 60,000
< 30,000
z 30,000
01 Al&H| 59,465 0 59,465
O SHHOIS A4S AIY 59,465,0002 *14] 59,465
< 30,000
z 29,465
03 Al&=0idl 535 0 535
O SHO0IS AL TIHZALY Al 2T 59,465,0002 *0.899% 535
St el 5,066,888 9,624,440 N4,557,552
= 4,001,000
< 233,000
z 832,888
=% At 4,793,440 9,624,440 A4,831,000
= 4,001,000




M RSO0
M ot 22
R ol E AN SR
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
ot ALY = 233,000
= 559,440
&E ot=HM2lE AXI(=8I) 1,363,000 2,243,000 A 880,000
= 1,268,000
& 95,000
403 XHXIEHXHSX=01 & 1,363,000 2,243,000 A 880,000
= 1,268,000
& 95,000
02 ZJIZ2SOICHECHE At I 1,363,000 2,243,000 880,000
O ot=HXel& X SAtdI 1,363,000,000& * 14| 1,363,000
= 1,268,000
o= 95,000
24 ot X (30]) 614,000 1,309,000 A695,000
= 571,000
& 43,000
403 XXM SK20IH 614,000 1,309,000 A 695,000
= 571,000
= 43,000
02 3I/2S0ICHSHCH& AL I 614,000 1,309,000 2A695,000
O ot==XMeld X SAtdl 614,000,000& * 14 614,000
= 571,000
& 43,000




A XSGR
3. ot=& 22l
Sl ot& AIY (St &)
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
W ot4=xeld ZX(24l) 701,000 1,508,000 A 807,000
= 652,000
= 49,000
403 XXISHS =0l 701,000 1,508,000 807,000
= 652,000
& 49,000
02 3J|I&SOHICHSHHEE AFE B 701,000 1,508,000 A807,000
O ot=XHel& &Xl SAtl 701,000,000& * 14 701,000
= 652,000
= 49,000
o8 HE otMeld EX(=2H]) 860,000 1,413,000 A 553,000
= 814,000
== 46,000
403 NXISHHSA=0lH 860,000 1,413,000 553,000
= 814,000
& 46,000
02 JBIIZ2SOCHSCHEE AFSHI 860,000 1,413,000 A553,000
O ot=xeld &X SAtYI 860,000,000& * 14! 860,000
= 814,000
o= 46,000
oS SOHE 0ISot=S FHUI(=24]) 840,000 360,000 480,000
= 588,000
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M RSO0
M ot 22
&2l ot=E ALY (chel: =)
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
2T SHE OtS5t== FHl(=H]) i 252,000
401 AlEHIL 2048l 840,000 360,000 480,000
= 588,000
i 252,000
01 Al&H 834,708 357,426 477,282
O s0E Otsct=S ZEHl At 834,708,000& * 14l 834,708
= 588,000
= 246,708
03 AlZ=CHYI 5,292 2,574 2,718
O s0E Otsot=S FHl S At 20l 840,000,000& = 0.63% 5,292
ot=& MWE=S 201,440 0 201,440
401 AlEHIL 20l 201,440 0 201,440
01 Al&HI 200,000 0 200,000
O ot=& 2=+ SAtHI 20,000,000& * 109f 4 200,000
03 AlZ=C0HYI 1,440 0 1,440
O dt=% HE= SAt 20Ul 200,000,000& * 0.72% 1,440
ot=& =4 50,000 0 50,000
401 AlEHIZ S OHY] 50,000 0 50,000
01 Al£HI 50,000 0 50,000
O ot=% =4 ZAttl 50,000,000& * 14 50,000
ot A 2 10,000 0 10,000
401 AlEHIL 20l 10,000 0 10,000
01 Al£HI 10,000 0 10,000
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M RSO0
M ot 22
&2l ot=E ALY CEREE
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
O ot=& 2 2=l 200,000& * 5001 4 10,000
i MM SO0lE Ol2 ot FHI(=4]) 154,000 0 154,000
= 108,000
= 46,000
401 AlEHIYL 20l 154,000 0 154,000
= 108,000
= 46,000
01 Al&HI 152,891 0 152,891
O s{E Ot=2 ot=% &EHl ZSA 152,891,000& * 14! 152,891
= 108,000
i 44,891
03 AlZ=CHYI 1,109 0 1,109
O s0{E 02 ot=% Jdl S At 20l 154,000,000& * 0.72% 1,109
ot=% 29 273,448 0 273,448
S3otxHeld Jl=dE 29,043 0 29,043
207 HFONEH] 29,043 0 29,043
01 A1EAH| 29,043 0 29,043
O E3ot==Hel& JlsdH 23| 9,681,000& = 342 29,043
230t AE2d 178,000 0 178,000
402 QU2 THE0IH 178,000 0 178,000
02 QIZHCHE AL HI 178,000 0 178,000
O 23dt==xXclE /=29l 132,000,000& * 14 132,000
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M RSO0
gz ol=k 2l
ool SlaT 2 (e e
SN HE - GS(EH) - HBAY - B 01l &k o S H DS 2
O E3ot==Held E82E HnE =44 2,000,000 * 23042 46,000
ot=& AlE= 22 66,405 0 66,405
201 LBt 3| 65,445 0 65,445
01 At 2teld] 14,465 0 14,465
O &&ot=xeld 272 =4 256,000& * 23044 5,888
O E3ot=HMel& F3tx L =2 55,000& * 23| » 23044 2,530
O E30t==Heldd =ZAM =2 58,4003 * 2304 * 23] 2,687
O =&l 7,000& * 421 » 10 » 12& 3,360
02 ==29gl 50,980 0 50,980
O B3ot==Xeld &II23 180,000& * 2304 = 12& 49,680
O ot=% "3l 1,300,000& * 14 1,300
202 O4Hl 960 0 960
01 =UWobl 960 0 960
O S3ot=xcld AMEEs 88 ¢l 20,000& * 1Q! * 43| » 12& 960
sgZdd L5t 5,054,300 0 5,054,300
as 3,538,000
= 75,815
= 1,440,485
SENSSEHLEAS 5,054,300 0 5,054,300
s 3,538,000
= 75,815
2 1,440,485
SENSSHMHLANS (A=) (2S) 1,845,700 0 1,845,700
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A NS He
By mEg FHI Fy
ol EY FeXe X (sl @)
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
— =HEAZ 7R2E 500,000& = 14 500
ZEY =3z 6,642 6,672 A30
201 LBt 3| 4,892 4,672 220
01 AtR2teld 3,360 3,400 240
O =&t 3,360
— MBS RSE L 2| 7,000& * 4% * 120 3,360
03 A2 ZH| 1,532 1,272 260
O HAH 29 & A S5 88,0003 * 64 * 13 528
O HAH 22 & dA 2SEH Xt 300,000& = 13l 300
YA 2 §olg @A ST 88,000& * 444 * 23] 704
301 e84z 1,750 2,000 A 250
10 HAIAMHIEA S 1,750 2,000 £250
O HAH 22 & A Sl 7,000& » 1508 * 13l 1,050
O ZEE MY 29 823 Msla =l 7,000& = 100& * 13 700
H=HIY XA (=2l) 509,500 356,000 153,500
2 509,500
401 AIEHIL 2O 509,500 356,000 153,500
=2 509, 500
01 Al&HI 505,831 353,436 152,395
O d=8Xa XM 505,831,000& * 14l 505,831
= 505,831
03 A& 3,669 2,564 1,105
O E=8X49 N2 A S0l 509,500,000& * 0.72% 3,669
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SN XN D
Mu: EY FHISY FY|
ol HEY FHAY X (S5 & 3)
SH-EH . A(BH) - NRAY - BES Off &+ o4 a%ggi; HRS
2 3,669
SEY KO SO HE ROATY 50,000 0 50,000
401 AlEHIZ 2O 50,000 0 50,000
01 Al&H] 50,000 0 50,000
O LAY 2,500n * 20,0002 50,000
SR MEGHE ZRA (2] 214,000 0 214,000
2 150,000
2 64,000
401 AlEHIZ 2O 214,000 0 214,000
2 150,000
2 64,000
01 Al&H] 213,465 0 213,465
O 27 MEISHE =AY 214,000,0008 * 99.75% 213,465
= 149,625
2 63,840
03 Al&SCH] 535 0 535
O S22 MEGHE =AY 2] 214,000,0008 * 0.25% 535
2 375
2 160
S AN 1,818,549 3,396,536 A1,577,987
2AeANLS 2 177,938 43,500 134,433
2N ALE BT 50,720 19,120 31,600
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HENRe:/1=Ton ]}
DS ADNE

CZHEAEE 2 EHel )
S A L EERI(BI) - MR AL &k oy e =2
201 LetEg] 21,600 10,000 11,600
02 23294l 21,600 10,000 11,600
O 22322 % MM(2= S 1,800,000& * 12& 21,600
202 O4dl 1,920 1,920 0
01 =2UWabl 1,920 1,920 0
O SYZNE h=( 20,000& * 2Q! * 43| » 12& 1,920
401 AlEHIL 204 27,200 7,200 20,000
01 Al&HI 27,200 7,200 20,000
O AIJIXI S¥HZ s 600,000& = 123 7,200
O HunE=tf 2= 10,000,000& = 22 20,000
2| HEAE 2H 27,218 24,380 2,838
201 YB3 | 20,258 23,660 23,402
01 At 2teld] 20,258 23,660 A3,402
O Z&c/H= et 2,000,000& * 43| = 2JH At 16,000
O ZH=AZE A 70,000 * 1221 = 43| 3,360
O of2esgda=ext 7,000& = 22! » 50 700
O ZHEAJS = 66,0002 = 3 198
202 O4dl 960 720 240
01 =UWotl 960 720 240
O ZHEANLAISE 20,000 * 201 » 2 *» 123 960
207 & IHEH] 6,000 0 6,000
02 HAHHE| 6,000 0 6.000
O EXNOIESEEAA 6,000,000& = 14 6,000
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SA XSHE
M SANE

&2 ZHEANESE 22 (ctel &
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

SLZ I 2HE S FHIAMY 100,000 0 100,000
401 Al&HI L2 OHYI 100,000 0 100,000
01 Al&H| 99, 100 0 99,100

O SLZ4I 2t & Fl 99,100,000& * 14l 99, 100
03 Al&=C0HYI 900 0 900

O SAZ &I 2HEEHHl & AERUH 900,000& = 14 900
THE A E A 1,640,611 3,353,036 A1,712,425
sa2g-=02 ZHECZ(AZ)HEAMS 774,851 0 774,851
401 Al&HI LS OHYI 774,851 0 774,851
01 Al&H| 770,000 0 770,000

O EXH 521,000,000& * 14l 521,000

O 2uSe~=n2t ZHECZ2HEAY 166m*1,500,000& 249,000
03 AlZ=C0HYI 4,851 0 4,851

O 2p=E~=n2t ZHZZONEAY AL R0 770,000,000& = 0.63% 4,851
Deldeh-R22 2HESZ(AZ)HEAME 150,000 0 150,000
401 Al&HI L2 OHYI 150,000 0 150,000
01 Al&HI 150,000 0 150,000

O EXH £ 4481141,000,000& +2 &=====9,000, 000 150,000
EQANE~NZW2 ZHEZZ(AZ)HEMY 263,000 0 263,000
401 Al&HI L2 OHYI 263,000 0 263,000
01 Al&Hl 263,000 0 263,000

O ERQANE~HAz=W2t E2044 263,000,000& * 14 263,000

_23_




2N

X XH .
o=

Xl < 0K e ot
SADRE

ool AL I
S ™A - Sl (3]0) 8% droy Bl &
THEANE SAE+AY 151,320 0 151,320
401 AIEHIZL 20| 151,320 0 151,320
01 Al&H| 150,000 0 150,000
O E2ANEES, HEEM S 50,000& *1,000m*3IH = 150,000
03 Al&=2CHYI 1,320 0 1,320
O ZHEANE SAEAY Al 150,000,000 +0. 88% 1,320
TAHEAIE 018 EXI0HYAS 201,440 0 201,440
401 AIEHIZL 20| 201,440 0 201,440
01 Al&H| 200,000 0 200,000
O |01 EXI0HY 200,000,000& = 14| 200,000
03 Al&=2C0HYI 1,440 0 1,440
O &J0I&d EX0HY AEL2UYI 200,000,000& = 0.72% 1,440
Ot x Sstn MUZIHE A 100,000 0 100,000
401 AIEHIZL 20| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
O otxxsstn JAZINL ALY EXI0HL 100,000,000 * 14! 100,000
RSP = 10,966,491 8,869,994 2,096,497
iy 5,500,000
& 300,000
= 5,166,491
HEEXX 2 K& 4,500,000 4,480,000 20,000
= 4,500,000
S R-Z a2t WL ESXX XS (ZE) 4,500,000 4,480,000 20,000
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SA XSHE
M XA

ool WYE=ZNT X (Bl g
SA B SR(EH) - NRAY - B S 0f &t S Bl R E 2

SlE -2t WY ENX 2K (2 S) = 4,500,000
401 AEHIZ=201Y] 4,500,000 4,480,000 20,000

s 4,500,000
01 AI&HI 4,134,835 4,114,000 20,835

O sl&-24t2t T2IHE ALY A& HI 4,134,835,000& 4,134,835

[ 4,134,835
02 Zeltl 354,000 354,000 0

O 3A-Z&2t T2IOHE ALY 22l 29,500,000& 123 354,000

[ 354,000
03 A4 =20 11,165 12,000 AB35

O 3a-24&2t TZ2IHE A A &R0 4,134,835,000& %0.27% 11,165

s 11,165
A2 FE=FAY 2,718,390 3,756,994 A 1,038,604
SEU2HAS 1,010,171 1,509, 844 A499,673
201 eI 3,871 2,544 1,327
01 AtR2eld] 3,871 2,544 1,327

O it+=EH 1,471

— HHE SI)tEE Fel 18,000& * 12E 216

— H=34 2yl 55,000& » 12 55

— HdACM 282 Zeid AR (EH)7Y 300,000& = 42 1,200

O sgdl(or2 & 59 =4dl) 5,000& = 4¢! « 120 2,400
401 AEHIZ =201 1,006,300 1,506,300 A500,000
01 AI&HI 1,002,677 1,500,000 A497,323
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SA XSHE
PSP EEN =

tel: ARE FUSJAAY CEEE
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

O EXHYEI(Zg,82/1018H & X&) E X0 25,000,000 += 28I S 15,000, 000 40,000

O otd, MUz, E+= S HHISAMBI(10HSH) 962,677,000& * 14 962,677
03 A& 3,623 6,300 A2,677

O d=HMHl, FUHEH = 1,006,300, 000& *0.36% 3,623
SHAREZFCIEHAAS 1,026,930 1,006,300 20,630
401 Al HI YL SO 1,026,930 1,006,300 20,630
01 Al&HI 1,020,500 1,000,000 20,500

O otd, U2, E+=2 S HHISABI(10HSH) 1,000,000,000& * 14! 1,000,000

O EXLHI(ZE&,S21018HIS £8) 700m* 20,0003 +2 S =====6,500,000& 20,500
03 AlE&=CHHI 6,430 6,300 130

O SHARIZFOEHAAIY AL 1,020,500, 000& *0.63% 6,430
SHIT HAAS 503,600 503,600 0
401 Al&HI LSO 503,600 503,600 0
01 Al£HI 503,237 500,000 3,237

O S8HE HAAEH 49,323,700% * 100H=SH 493,237

O EXNYH(=EE, SII0I1&H S Z&) 1,000,000& *100H & 10,000
03 Al&=0HdI 363 3,600 A3,237

O Z=HHl, 2UHEH S 50,360,000& *0.72% 363
C2HY ANREX ZSMA S8 FIAMY 51,315 30,008 21,307
201 ptEd| 175 0 175
02 32| 175 0 175

O BAEAHUHAR RBES ZEUH(SII) 1,750& x100S 175
202 O4Hl 600 200 400
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SA XSHE
M XA

o9l ARD FUSAAY (e e
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2
01 3L LI 600 200 400
O 8XXZAH, 23 HHI(ZUH) 20,0003 »121+30 600
401 AlEHIL 204Gl 50,540 29,808 20,732
01 A&l 50,503 19,008 31,495
O EXNLHI(Zg, SIl01&Hl Z8h) 50,503,000& * 14l 50,503
03 AlZSCHHI 37 10,800 A10,763
O 20&EHl 5,040,000 *0.72% 37
FE =217 LFMEEX M2 TZI3A 30,348 0 30,348
401 AlEHIZ=20YI 30,348 0 30,348
01 Al&HI 30,055 0 30,095
O M2 ZEZ A 80,0003 »300m 24,000
O EXLHI(EE, SII018H S Z8§) Z2£400,000& * 142 X[+S 10| M65,000& « 72 X 6,055
03 A& 293 0 293
O Z=H7dl, fUHEH S 27,055,000 *1.08% 293
2o M= =2 ZHHISA 10,108 0 10,108
401 Al&HI LSO 10,108 0 10,108
01 A&l 10,000 0 10,000
O =2 EHH|Z3AtH] 153,846 *65m 10,000
03 A& 108 0 108
ZSHMYl, R0HEH S 10,000,000& *1.08% 108
e 28 =2 SXISA 20,216 0 20,216
401 Al&HI LRI 20,216 0 20,216
01 A&l 20,000 0 20,000
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SA XSHE
A XA

ol AR ZUSANY (£rs): & 2
SN B HAEH) - NRAY - B 0 &t o4 e HRE2

O =2 &XI3At 100, 0002 *200m 20,000
03 Al&=CHYI 216 0 216

O Z=HMYl, R2UHBH S 20,000, 000& *1.08% 216
E4 Az =2 HHISA 65,702 0 65,702
401 AlEHIL 204G 65,702 0 65,702
01 Al&HI 65,000 0 65,000

O =2 FHIS At 342,105& *190m 65,000
03 A& 702 0 702

O d=HMdl, FUHEH = 65,000, 000& *1.08% 702
=X A 857,400 315,000 542,400
FO(QUARNE2ER )X AAGE 22 2,400 0 2,400
202 O4dl 2,400 0 2,400
01 3L 2,400 0 2,400

O =UNIANSE NS 20,0003 221 x53| x 12& 2,400
FOXA(LUAT2EZ )AL 300,000 0 300,000
402 SI2EHE 01 300,000 0 300,000
01 2AREEX 300,000 0 300,000

O 8% FUXAAMG(10HSH) 300,000,000 14! 300,000
5 A7 OS2 ME3A 80,000 0 80,000
402 2I2HXE201H 80,000 0 80,000
01 2ARE2E X 80,000 0 80,000

O OtSsl& A=ZAH99M) 80,000,000 *x1& 80,000
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SA XSHE
M XA

ool FOIXRAIY (el @l
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2

4 HOIO! B FHEHIALY 10,000 0 10,000
402 QI2tXHE201A 10,000 0 10,000
01 BIZEAI22 X 10,000 0 10,000

O BRI E FHHYIS A 10,000, 0003 * 14| 10,000
AJIEE KNGS 230,700 0 230,700
AJIES NFG2UHST| 23,200 0 23,200
201 LBrEZ| 4,300 0 4,300
01 AtR2eldl 4,300 0 4,300

O BItAtg ¥ &=2%HE & IHXH=3,000,000& +& 2= 24500, 000& 3,500

O D=0 s Atz 200,000& 43| 800
202 Oidl 2,100 0 2,100
01 =Wobl 2,100 0 2,100

O &IIESXEes)| HR2FA 50,0003 x3F x2 2 x7 3| 2,100
301 et a3 4,800 0 4,800
10 HAIAMHIEAZ 4,800 0 4,800

O &SIt d8XAS & 2IUHe &4 40,0003 x409 x33| 4,800
402 QI2tXHE201A 12,000 0 12,000
01 BIZEAI22 X 12,000 0 12,000

O &JIESXd9es)| 8 a sl 1,000,000& *1Z 123 12,000
& AIIE2 0SItFRI] ArY 207,500 0 207,500
201 L83 2,200 0 2,200
01 AtR2eldl 2,200 0 2,200
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SA XSHE
ERSBEDNISD) 1=

S MIIES XNYLE)| (et &S
SN HB S (BH) - MBEAY - BAS of Ao S HRS2
O OISF0Ns 2AIE & S0 H& 200, 000& *x53| 1,000
02 &8 AAMHAA = 100, 000& *4H *33] 1,200
202 O4d] 2,100 0 2,100
01 =Woibl 2,100 0 2,100
O H&IIE2 020132 g2FA 50,000& *3H 2 *7 3] 2,100
301 LEtE A2 3,200 0 3,200
10 SAIAHIEAZ 3,200 0 3,200
O 202 2l A& XAEH 40,0003 x40H x23| 3,200
402 QI2EXE20|N 200,000 0 200,000
01 RIZEXEEXR 200,000 0 200,000
O & AIIE2 OISR J] AIg 20,000,000& *10H0F= 200,000
KIS OHEAFS 1,020,000 0 1,020,000
72 TS2HEAS 1,020,000 0 1,020,000
203 YR F=Z&H| 20,000 0 20,000
03 AHMFXARFZRH| 20,000 0 20,000
O XNEMEAY HRFXH| 20,000,000 = 14 20,000
401 AIEHIZE20HY] 1,000,000 0 1,000,000
01 Al&H| 993,700 0 993,700
O EXOHYBI(Z,S71018H Z&H) 993,700,000 * 14 993,700
03 Al =04dI 6,300 0 6,300
O HARREZZHEAS AIEL204H] 1,000,000, 000& *0.63% 6,300
2132 A= 22| 25,000 18,000 7,000
sSH=EX32 AlEz2e] 25,000 18,000 7,000
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SA XSHE
M XA

&2l SXg2 Ald=2 22 (9 ®&
SN HH . CI(EH) - MEAR - HAS Ol &k ot S Hl D=2
401 Al&EHIYL 2048l 25,000 18,000 7,000
01 A&l 25,000 18,000 7,000
O S¥=X32 724 2,500,000& * 100HS™ 25,000
HMAALATESHMA(ZE) 1,615,001 0 1,615,001
s 1,000,000
& 300,000
= 315,001
A THeHAIE SUSAIE (Z2S) 1,000,000 0 1,000,000
s 500,000
& 300,000
= 200,000
201 LBt 3| 6,520 0 6,520
01 At 2teldl 6,520 0 6,520
O AREZE F72500,000& 500,000& *13] 500
ORIz S 3,500,000& =14 3,500
O =&l 7,000 *x321x120 2,520
202 O4dl 3,000 0 3,000
01 =WoHl 3,000 0 3,000
O ¢l 20,000& »321x50 3,000
401 AlEHIZ204YI 990,480 0 990,480
s 500,000
& 300,000
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S RSN
A XA
Gl BUHATSSEMG(ZS) (

e
A -H2A(EAH) - MY - BES Ofl &F 2K a%ggi; Hlns2t

401 Al&HIZ S 2 190,480

01 Al&HI 967,941 0 967,941
O ZHATHSHAIE S OH3HANY SHHISAHIEXION LY 967,941,000 14| 967,941
z 491,700
[ 295,017
= 181,224

02 22ltl 16,338 0 16,338
O ZHATHSHAIRS S CHBHARY 22l H 16,338,0002 * 14 16,338
z 8,300
< 4,983
= 3,055

03 A=yl 6,201 0 6,201
O ZHATHEHAI R S HEIAFY Al& 2T 984,279,0002 *0.63% 6,201

HE2 MY (BS) 615,001 0 615,001
T, 500,000
z 115,001

401 AlEHIY 2T 615,001 0 615,001
z 500,000
z 115,001

01 Al&H] 610,604 0 610,604
O HE2 THAL 610,604,0002 * 14| 610,604
z 500,000
z 110,604
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S RSN
H

=L HED

= %&i:%%é/\f@(ﬂg) (chel: =&
SN EB - SR(B) - MRAY - BES 01l &t o S B DS 2

03 A4S0 4,397 0 4,397

O g&2 Z4AMY AIE20] 610,604,000& *0.72% 4,397
Y2 (XGIHL D) 40,200 19,912 20,288
QI 2 4,200 4,200 0
ol 2| 4,200 4,200 0
203 HRFLH| 4,200 4,200 0
04 REMSIHRFLEH 4,200 4,200 0

O BM2YL2FZHI(3021016t) 350,000& = 123 4,200
Jl2&Hl 36,000 15,712 20,288
Jl2ZHlI/SAIAE 28,160 15,712 12,448
201 LptEg] 20,960 14,712 6,248
01 AtS2eld] 14,900 9,612 5,288

O get=&Z| 14,900

— HHARII ARB(EH 2) 400,000& * 8& 3,200

— SAEX FE 150,000& = 12& 1,800

— NREZ FY 300,000& = 32 900

— M2, 83X 2= 12,0003 = 252 * 12&8 3,600

— sz Py 300,000& = 53 1,500

— ZAINE PRFE S| 7,000 «5H 6 102 2,100

— AR A2F 7Y L ANERK 200,000& 9 1,800
02 ==29gl 6,060 5,100 960

O &= 350,000& 123 4,200

O RHER= 150,000& <10 1,500
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SA XSHE
MM HAY2AAHI(KSHL D)

el J|= Al (B9 @8
SN EHH.C(E) - NHEAY - BYS Ofl &F o8 a%ggj HRE2
O EXO0ISHESRAVUAL T 2& Y 180, 0002 x2% 360
202 Oft| 6,600 1,000 5,600
01 =Uoit] 6,600 1,000 5,600
O XHe 2= 20,0002 *3 *52 122 3,600
O BY=H KA S AR 50,0002 +2 *32 103 3,000
405 X+t SHI 600 0 600
01 RAYSEFHSH 600 0 600
O 84 S 28 ¢ 3000002 x2 % 600
=AYl / A2 7,840 0 7,840
201 Yeregy| 3,040 0 3,040
01 A2l 3,040 0 3,040
O 1.8 3,040
- E47Y 300,000 * 74 2,100
— 2aty3 Y 40,0002 * 4% * 4} 640
— ARIQIEE 1,5008 * 200 300
202 Oft| 4,800 0 4,800
01 =Uoit] 4,800 0 4,800
O ZOINANY U 2 BILS = 0fH| 20,0008 * 5% * 42 * 128 4,800
WRES (XL 9,960 12,681 A2,721
TESEE 9,960 2,681 ~2,721
SEWHSBEN e 9,960 2,681 A2, 721
701 JIEEIHEED 9,960 12,681 A2, 721
01 JIESINEES 9,960 12,681 ~2,721
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